

$$f \circ f\left(\frac{\pi}{4}\right) = f\left(f\left(\frac{\pi}{4}\right)\right) = f(\sqrt{2}) = 2 \Rightarrow \boxed{f \circ f\left(\frac{\pi}{4}\right) = 2}$$

$$f(x) = \begin{cases} \cot \frac{\pi x}{4} & ; x < 1 \\ \sqrt{x+1} & ; x > 1 \end{cases} \Rightarrow \begin{cases} f\left(\frac{\pi}{4}\right) = \cot \frac{\pi}{4} = \sqrt{2} \\ f(\sqrt{2}) = \sqrt{\sqrt{2}+1} = 2 \end{cases}$$

$$f \circ g\left(\frac{\pi}{4}\right) = f\left(g\left(\frac{\pi}{4}\right)\right) = f\left(\frac{1}{2}\right) = \sqrt{\frac{1}{2}} = \frac{\sqrt{2}}{2} \Rightarrow \boxed{f \circ g\left(\frac{\pi}{4}\right) = \frac{\sqrt{2}}{2}}$$

$$g(x) = 2 \cos^2 \frac{\pi x}{4} \Rightarrow g\left(\frac{\pi}{4}\right) = 2 \cos^2 \frac{\pi}{4} = 2 \left(-\frac{1}{2}\right)^2 = \frac{1}{2}$$

$$f\left(\frac{1}{2}\right) = \sqrt{\frac{1}{2}+1} = \sqrt{\frac{3}{2}} = \frac{\sqrt{6}}{2}$$

$$f \circ g(\sqrt{2}) = f\left(g(\sqrt{2})\right) = f(-2-\sqrt{2}) = -2 \Rightarrow \boxed{f \circ g(\sqrt{2}) = -2}$$

$$g(x) = \frac{x}{1-x} \Rightarrow g(\sqrt{2}) = \frac{\sqrt{2}}{1-\sqrt{2}} = \frac{\sqrt{2}(1+\sqrt{2})}{(1-\sqrt{2})(1+\sqrt{2})} = -(2+\sqrt{2}) = -2-\sqrt{2}$$

$$f(x) = [x] \Rightarrow f(-2-\sqrt{2}) = [-2-\sqrt{2}] = -2$$

$$g \circ f\left(\frac{\pi}{4}\right) = g\left(f\left(\frac{\pi}{4}\right)\right) = g\left(\frac{\sqrt{2}}{2}\right) = \frac{1}{2} \Rightarrow \boxed{g \circ f\left(\frac{\pi}{4}\right) = \frac{1}{2}}$$

$$f(x) = \sin x \Rightarrow f\left(\frac{\pi}{4}\right) = \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2}$$

$$g(x) = x \sqrt{1-x^2} \Rightarrow g\left(\frac{\sqrt{2}}{2}\right) = \frac{\sqrt{2}}{2} \sqrt{1-\frac{1}{2}} = \frac{\sqrt{2}}{2} \times \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$a) f \circ g(x) = \{(1,0), (2,0), (3,1), (4,1)\} \quad b) g \circ f(x) = \emptyset$$

$f \rightarrow 1 \rightarrow 0$
 $2 \rightarrow 0$
 $3 \rightarrow 1$
 $4 \rightarrow 1$

$$c) f \circ f(x) = \emptyset \quad d) g \circ g(x) = \{(1,1), (2,1), (3,1)\}$$

$f \rightarrow 1 \rightarrow x$
 $2 \rightarrow x$
 $3 \rightarrow 1 \rightarrow x$
 $4 \rightarrow 1 \rightarrow x$

$g \rightarrow 1 \rightarrow 1$
 $2 \rightarrow 1$
 $3 \rightarrow 1$
 $4 \rightarrow 1$

$$(1,2) \in f \circ g \quad (I) \quad (2,1) \in g \circ f$$

$$1 \rightarrow 2 \rightarrow 1 \quad 2 \rightarrow 1 \rightarrow 2$$

$$f \circ g(x) = \{(1,1), (2,2), (3,3), (4,4)\}$$

$$(I), (II) \Rightarrow (1,2) = (2,1) \Rightarrow \boxed{1=2} \quad (III), (IV) \Rightarrow (2,1) = (1,2) \Rightarrow \boxed{2=1}$$

$$(3,3) \Rightarrow (3,3) = (3,3) \Rightarrow \boxed{3=3} \quad (V), (VI) \Rightarrow (3,3) = (3,3) \Rightarrow \boxed{3=3}$$

$$(4,4) \Rightarrow (4,4) = (4,4) \Rightarrow \boxed{4=4} \quad (VII), (VIII) \Rightarrow (4,4) = (4,4) \Rightarrow \boxed{4=4}$$

$$\Rightarrow (a,b) = (c,d)$$

تابعی خطی است پس آن را به فرم $f(x) = ax + b$ می‌نویسیم

$$f(f(x)) = f(ax + b) = a(ax + b) + b = a^2x + ab + b = (x + 3) \Rightarrow \begin{cases} a^2 = 1 \Rightarrow a = \pm 1 \\ ab + b = 3 \Rightarrow b = 3 \Rightarrow a = 1 \end{cases}$$

$$f(x) = ax + b \Rightarrow f(x) = 2x + 1 \Rightarrow f(1) = -1 \Rightarrow f(-1) = 1 \Rightarrow f(1) = -1 \Rightarrow f(-1) = 1 \Rightarrow f(1) = -1 \Rightarrow f(-1) = 1$$

$$g \circ f(-1) = g(f(-1)) = g(-1) = -1$$

$$g(2x + 3) = 2x - 1 \Rightarrow g(-1) = -1$$

$D = \{x | x \in D_f ; f(x) \in D_g\}$

$f(x) = \sqrt{x+|x|} \Rightarrow x+|x| \geq 0 \Rightarrow |x| \geq -x$
 $\Rightarrow x \geq 0$ (I)

$g(x) = \frac{1}{x^2 - 1} \Rightarrow x^2 - 1 \neq 0 \Rightarrow x \neq \pm 1$
 $\Rightarrow x \neq 0, \pm 1 \Rightarrow D_g = \mathbb{R} \setminus \{0, \pm 1\}$

$D_{g \circ f} = (0, +\infty) \setminus \{1\}$

$D_{(f+g) \circ f} = \{x | x \in D_f ; f(x) \in D_{f+g}\}$

$D_{f+g} = D_f \cap D_g \Rightarrow D_{f+g} = [0, 1]$

$g(x) = \sqrt{x} \Rightarrow x \geq 0 \Rightarrow D_g = [0, +\infty)$

$f(x) = \sqrt{1-x^2} \Rightarrow 1-x^2 \geq 0 \Rightarrow (1-x)(1+x) \geq 0 \Rightarrow x \in [-1, 1]$

$D_{f+g} = [0, 1]$

$D_{(f+g) \circ f} = [0, 1]$

الف) $f\left(\frac{tn+1}{n-2}\right) = t \Rightarrow f(t) = t \left(\frac{t+1}{t-2}\right) + 2 = \frac{t^2 + t}{t-2} + 2 = \frac{t^2 + t + 2t - 4}{t-2} = \frac{t^2 + 3t - 4}{t-2} = \frac{(t+4)(t-1)}{t-2}$

ب) $f\left(x + \frac{1}{x}\right) = x^2 + \frac{1}{x^2} \Rightarrow f(t) = t^2 - 2t = \sqrt{f(x)} = x^2 - 2x$

$x^2 + \frac{1}{x^2} = (x + \frac{1}{x})^2 - 2(x)(\frac{1}{x}) \Rightarrow x^2 + \frac{1}{x^2} = (x + \frac{1}{x})^2 - 2(x + \frac{1}{x})$

$\Rightarrow x^2 + \frac{1}{x^2} = t^2 - 2t$

$g(f(x)) = 0$
 $g(1) = 0$
 $g(2\sqrt{x}) = 0$

$\Rightarrow \begin{cases} f(x) = 1 = x\sqrt{x} \Rightarrow x^3 = 1 \Rightarrow x = 1 \\ f(x) = 2\sqrt{x} = x\sqrt{x} \Rightarrow x^3 = 8 \Rightarrow x = 2 \end{cases}$

$\Rightarrow x - 1 = 0$